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Il 609,500
== 121,900
Al 487,600
201 2= 3,600 3,600 0
Jl 1,800
= 360
Al 1,440
01 AtR2tc|HI 3,600 3,600 0
o=JIgdd S| 3,600
Il 1,800
= 360
Al 1,440
202 04| 2,000 2,000 0
Il 1,000
= 200
Al 800
01 =LHOHI 2,000 2,000 0
O=It& B A 2,000
) 1,000
= 200
Al 800
301 eEetE N = 400 400 0
) 200
== 40
Al 160




SN AUBHDY
B mHGIS AYTA JIBPE
el ASRE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
11 HAAHIXIE S 400 400 0
O3B &AL 400
| 200
= 40
Al 160
308 AHXIHM SO & 1,213,000 1,213,000 0
| 606,500
= 121,300
Al 485,200
1 SI2SHHEHE AR L{E AL 1,213,000 1,213,000 0
O=ItL A XA 1,213,000
| 606,500
T 121,300
Al 485,200
AEA 2| SHIXIRAIS (FEHANR) 1,155,840 1,010,840 145,000
= 693,504
Al 462,336
307 212+01 A 1,155,840 1,010,840 145,000
& 693,504
Al 462,336
01 2227 =H| 1,155,840 1,010,840 145,000
ogatat o=zdl XI& 1,155,840
& 693,504
Al 462,336
20l AL 8,500 8,500 0
201 Let23H| 8,500 8,500
01 At 2elt] 5,000 5,000
20l AL 5,000
02 2324l 3,500 3,500 0
O MLAIS 3,500
S|IHEEA o|ZH| XA 1,242,826 1,005,452 237,374
J| 621,413
= 124,282
Al 497,131
308 AXISHMSOIN 1,242,826 1,005,452 237,374
| 621,413
T 124,282
Al 497,131
1 SI2SHHEHE A E L EALAH] 1,242,826 1,005,452 237,374
O3|HEEA 2l=zHl K& 1,242,826
| 621,413
T 124,282
Al 497,131
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SH: AYEE
Zu: mEgls AYCA J|HDE
=2l Hofe!l A=K (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOt A XA 150,000
= 75,000
== 37,500
Al 37,500
KSAtE] SEALSTMS(XSFAIZSATHE) 20,000 10,000 10,000
Jl 10,000
== 2,000
Al 8,000
201 2= 18,000 8,000 10,000
7l 9,000
= 1,800
Al 7,200
01 At 2|l 18,000 8,000 10,000
OXS At S THE 18,000
Jl 9,000
= 1,800
Al 7,200
202 04| 2,000 2,000 0
Jl 1,000
= 200
Al 800
01 =LHNHI 2,000 2,000 0
OXS A SHTHE 2,000
Jl 1,000
= 200
Al 800
NSABISAE KA 102,216 0 102,216
= 51,108
= 10,222
Al 40,886
101 @124H| 102,216 0 102,216
= 51,108
== 10,222
Al 40,886
M ORIMZZ2NSE S 102,216 0 102,216
OXNSAt2IS e XA 102,216
= 51,108
== 10,222
Al 40,886
AH2IBHI(AZ S 647,606 1,165,559 A517,953
= 101,060
Jl 195,694
s 59,351




=M AUB
A HZYRAZH(AZSI L)
Sel: QIEHH|(AZST) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 291,501
F2gH(HsTW) 593,506 1,089,739 N\496,233
= 101,060
Jl 195,694
== 59,351
Al 237,401
NAAE SEHLSIAIL (AL ST SEelAbl) 280,386 482,164 A201,778
Jl 140,193
=S 28,039
Al 112,154
101 21AH| 250,386 392,164 A141,778
Jl 125,193
= 25,039
Al 100,154
03 SRH(RIH ) 222+ 211,082 392,164 181,082
OXNSHAI SSAHLBS AL 211,082
Il 105,541
= 21,108
Al 84,433
04 JIZtN22 XS 2+ 39,304 0 39,304
OXNSHAI SEAHLSUAI 39,304
Il 19,652
= 3,931
Al 15,721
M A=FLSS 30,000 90,000 60,000
Jl 15,000
= 3,000
Al 12,000
04 SR (RIH 22X BE=RES S 30,000 24,830 5,170
OXNSAt SSAHLS ALY 30,000
) 15,000
< 3,000
Al 12,000
=otzel XIXHA X2 Q24| 31,000 31,000 0
Jl 15,501
< 3,100
Al 12,39
101 @124H| 27,541 27,520 21
Il 13,771
== 2,7%4
Al 11,016
03 SRA(FIH )22 U2+ 27,541 27,520 21
O=Jtz&el XXA XI& 27,541




=M AUB
A HZYRAZH(AZSI L)
Sel: QIEHH|(AZST) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 13,771
=S 2,7%4
Al 11,016
WM HsEE=S 3,459 3,480 N21
Il 1,730
= 346
Al 1,383
M BRA(RIAHSL) 22N BEEERE=s S 3,459 830 2,629
o=Jtzg&el XXM K& 3,459
Jl 1,730
= 346
Al 1,383
SHAZAMHIAANY Q24| 80,000 160,000 80,000
Il 40,000
= 8,000
Al 32,000
101 @12A4H| 68,777 137,553 N8, 776
) 34,388
= 6,878
Al 27,511
0B SPA(PIHL) 22X+ 68,777 137,553 68,776
OSSN AMHIA A 68,777
Il 34,388
< 6,878
Al 27,511
M HA=RESS 11,223 22,447 A11,224
Jl 5,612
[ 1,122
Al 4,489
4 BRA(RIHA)22N BEERES S 11,223 6,222 5,001
Oz=HXAMHIAA 11,223
Il 5,612
== 1,122
Al 4,489
SHAZCIAIY 12| 202,120 398,276 196,156
= 101,060
== 20,212
Al 80,848
101 e124d| 175,841 322,718 A146,877
= 87,921
= 17,584
Al 70,336
03 SR (RIH )22+ 175,841 322,718 A146,877
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